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Plotting Points- Plot each of the points on the coordinate plane. Label each point with the

corresponding letter.
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B. (4,5) -
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II.

Naming Points — In the spaces provided, write the correct coordinates of the point that

-corresponds with each letter.
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II. - Simplify Expressions- Simplify each expression. Make sure to combine like terms!

i, 2’e[3(5)+8+4] 2. Bp-#-35t-2p
2-Li542) 50 - ok
3¢ P-
- £ L) ={\3u) e -
— 3. -8=(5-x) 4. 3Q2x—3(x-1)
B B-5+% 3 (2 -3x+?))
or X473 3 (CX¥3)
B [=3%+9])
Iv. E.;raluate Expressions- Plug in the value given to evaluate each expression. Your answer
_ should be a number! - '
5. ,10(r2+¢)1f6r"z=— 6. =5S|k+1| for k=-10
(-9 ¥ 5)) -5 [¢10) +1 |
- 10(25 -5) -51-4l
N 10 (20) =(200] (-45)
7 x> —4x—12 for x=-2 (x+y)
'2)2""“ '2) ’_\1 8. = for x=-12,y=4
s (Coneh) > €5 . 8%
-2 = -4 -4 o
V. Solve Equations- Solve each equation.
9. 3—v=3 o 10. 8m+1=Tm-9
- - I Im o
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=% = -\ -\
/_."
[V=2] - - (= 0] ~
11. —4(z+5)+2=14 12. - —y+3y+7y=2y+14
“Yz-20+2=14 - A= 2y
Yz -18= 4 = Ny
— "'1‘ ﬂL a 1 = ‘\‘
T i e
G i 4 4. —(x-1)+10=-3(x-3)
2R ~X+1H0 = -2 X ¥4
AL~ 10t ) =X+ =-2¢x4
A4 A X X
&= W= -2X 14
=12 I t
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VI.  Determine if the Relation is a Function- circle YES if the relation is a function (the x-values do

not repeat) and NO if the relation is not a function.

R R N ORI N e )R O R R ——
A 77 I - ? ‘ 7 -
Function? or _NO | Function? YES or @
7. — 18 _ - =
' B EANNERNEEEEEN S d _
: S = 7;:_ i - x 7
Function? YES or (NO Function? @ or- NO

VIL. Determine the Domain & Range of Each Relation. —

23. {(5; _1)3 (89 2): (—47 3)9 (_43 _4)}

Domain: {"ulsl 8%
~Range: E—Ll,’l ] 2, 5%

24.
X 7—2 0 4 7
Y 6 -8 2 0
'Domain: i"zg 0, L\\—]z
Range: %-?1 0, 2, lﬁ%
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26. 5 & .
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e
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Domain: gx X= R i
Range: {\ﬁ \r% >-\o'§

VIIL. Determine the X- & Y- Intercept(s)- Find the x- and y- intercept of the function. Intercepts
should be-written as ordered pairs.
27, y=3x+5 Y=30x S 28. 2x + 3y 6 “2xx30)=\
\5 39 W=3(ORS 2(0) +3y =1 IXkO= o
*3)( ,(\:, UrfD S 0 +’$l5 =l 2X =l
.5& o LA
(3 S

X Intercept(s)

3.03

X-Intercept(s):

(3,0)

Y-Intereept: ( O, C,> Y-Intercept: ( 0,’13 —
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X-Intercept(s):

Y-Intercept:

1o) + (4.0)

(0,4)

X-Intercept(s):

(%,0)

Y-Intercept:

(0,4




IX. Determine the Slope of a Line- Fipd the slope of the line using the given information.
. Remember: When givenq)'bints, the slope formula is: m = 227N
o . ) = A= ' Xy X
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34 4x —_6j/ =2 _7

35. (5,6) (9, 8)
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36. (-9, 13) (2, -10)
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X.
siope-intercept form (y = mx + b)

Write the Equation of a Line- Given the information provided, write the equation of the line in
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- 4-2
o bn |

Y-

Yar X

3'vnx+b
2= (3H0)+o
13 +b
-\=bo

-l
’l

39. The line passes through: (1, 2) (-1, -4)

=3

of 5. - .

40. The line has a slope of 3 and a y-intercept

XI.

points on your graph.

Graph Lines- Graph each line on the coordinate plane prov1ded You should have at least 2

1
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r7T3

10
LR
o
()
L Yol I
i
i o
i i
i i
1 B brBadindl ' E..8..1
o
T (% PO
4
i
(&}
)
(i H
10
o

42. 4x -2y = 43. y= .
-4x -ﬂx )
— v;g—ery& ) )
-2 -2 B
_ W 2x - T -
i g 1 / € ] |_ H
: g / P2 e ~N
1 o F % L - F'e
? It = : B
= ; - o
. 4 / b A L .
bk / i ; R
ek 2 Lo : e Do et
o e | T e e
4# 4
Vi : L
4 = - %8.7..."7 =
£ 40 10 st

XII.

—

Graph Quadratics- Graph each quadratic function on the coordinate plane provided. You

should have at least 5 points on your graph. Graphs should be in the shape of a parabola!
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